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1. tan―1 (1

4
) + tan―1 (2

9
) =

a)
1

2
cos―1 (3

5
) b)

1

2
sin―1 (3

5
) c)

1

2
tan―1 (3

5
) d)tan―1 (1

2
)

2. If sin―1 α + sin―1 β + sin―1 γ =
3𝜋
2

,then αβ + αγ + βγ is equal to

a)1 b)0 c) 3 d) ―3

3. If 𝐴=tan―1 ( 𝑥 32𝑘 ― 𝑥)and 𝐵 = tan―1 (2𝑥 ― 𝑘𝑘 3
),then the value of 𝐴 ― 𝐵 is

a) 10° b)45° c) 60° d)30°

4. If in a ∆ 𝐴𝐵𝐶,∠𝐴 = tan―1 2 and ∠𝐵 = tan―1 3,then angle 𝐶 is equal to

a)
𝜋
2

b)
𝜋
3

c)
𝜋
4

d)None of these

5. If (tan―1 𝑥)2
+ (cot―1 𝑥)2

=
5𝜋2

8
, then 𝑥 equals

a) ―1 b)1 c) 0 d)None of these

6. 4 tan―1 1

5
― tan―1 1

239
is equal to

a)𝜋 b)
𝜋
2

c)
𝜋
3

d)
𝜋
4

7. If sin―1 𝑥 ― cos―1 𝑥 =
𝜋
6

, then 𝑥 is

a)
1

2
b)

3

2
c)

―1

2
d)None of these

8. If the mapping 𝑓(𝑥) = 𝑎𝑥 + 𝑏,𝑎 > 0 maps [ ―1,1] onto [0, 2] then cot[

cot―1 7 + cot―1 8 + cot―1 18 ] is equal to

a) 𝑓( ― 1) b)𝑓(0) c) 𝑓(1) d)𝑓(2)
9. The value of sin―1 (cos

33𝜋
5

) is

a)
3𝜋
5

b)
7𝜋
5

c)
𝜋

10
d) ― 𝜋

10

10. For the equation cos―1 𝑥 + cos―1 2𝑥 + 𝜋 = 0, then the number of real solutions is
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a)1 b)2 c) 0 d)∞
11. The value of tan {1

2
cos―1 ( 5

3
)}, is

a)
3 + 5

2
b)3 + 5 c)

1

2
(3 ― 5) d)None of these

12. The value of sin [2 cos―1 5

3
] is

a)
5

3
b)

2 5

3
c)

4 5

9
d)

2 5

9

13. If 𝑥 > ― 1

3, then tan―1 (3𝑥 ― 𝑥3

1 ― 3𝑥2) equals

a) 3tan―1 𝑥 b) ―𝜋 + 3tan―1 𝑥 c) 𝜋 + 3tan―1 𝑥 d)None of these

14. cos―1 (1

2
) + 2 sin―1 (1

2
) is equal to

a)
𝜋
6

b)
𝜋
3

c)
2𝜋
3

d)
𝜋
4

15. If sin (sin―1 1

5
+ cos―1 𝑥) = 1, then the value of 𝑥 is

a) -1 b)2/5 c) 1/3 d)1/5

16. If cos―1 𝑥 + cos―1 𝑦 + cos―1 𝓏 = 3𝜋,then 𝑥𝑦 + 𝑦𝓏 + 𝓏𝑥 is equal to

a)0 b)1 c) 3 d) ―3

17. If 0 ≤ 𝑥 < ∞, then cos―1 (1 ― 𝑥2

1 + 𝑥2) equals

a) 2tan―1 𝑥 b) ― 2tan―1 𝑥 c) 𝜋 ― 2tan―1 𝑥 d)𝜋 + 2tan―1 𝑥
18. The value of cos[2 tan―1( ― 7) ] is

a)
49

50
b) ― 49

50
c)

24

25
d) ― 24

25

19. The value of sin (4 tan―1 1

3
) ― cos (2 tan―1 1

7
) is

a)
3

7
b)

7

8
c)

8

21
d)None of these

20. If cos―1 𝑥 + cos―1 𝑦 + cos―1 𝓏 = 3𝜋,then 𝑥𝑦 + 𝑦𝓏 + 𝓏𝑥 is equal to

a)0 b)1 c) 3 d) ―3
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